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MATHEMATICS (SCIENCE)

Q.Paper : 1 (Objective Type )

Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions/.:.mr A
1 =] w? o w.0° = LA
B . £ o A KT fl bl Y L U1E x /;‘“‘Lf( :
Different S . Gira 7 Sum of the deviations of the et
1T sk 10 variable x from its mean issalways :
1Jl:&‘__c;}:-u}xf.cugl,-fJu’i:;xsl/'Juﬁ(_f'b..{! 3
75° 45° 60° 30° The length of a chord and H 1 w,:uuff/
the radial segment of\a circle are congruent;
the central angle made by the chord will be :
e S b4
360° 270° 180° 90° e
A cOmplete circle is divided into :
' 5
S §5x%= Y7
(5.2) ) | sy | .ol (e essies
solution set of equation 5x”=30x is: .
1-tan?@ 1+cos®6 1+tan%6 1 <sin 6 sec?@ =-—-=mm-: 6
é@LEJVJ}&ZLU:;lJLﬂz_IJ» 1
3 4 : 3 How many common tangents can be
drawn for two touching circles :
i , ) 1 Ul 5 - x4 4= 0cmBati |3
= r ) - If o, B are the roots of tessof i
7x? —x+4=0 then off is :
e FJJ/» ;:Lke" Jg : e-t'Myu:xty-wj )
Ratio Cotisequent Antecedent Relation In aratiox:y ,y iscalled :
10
Th t e ar FEaxt 16 =0 =bils
(2} %23 (4} (£4) B ) ’
solution set of equation 4x“—16 =0 is:
iB={3,58}sA={2,3,510 |1
{2:3} (3.8} {308} . 3,31 IfA={2,3,5}and :4ANB=--~-
B={3,528} thendnB=———:
’ Fod % P . 2
J:'L;”,?M‘;( 45;_{, J;J,B:” f,bl‘i;cﬂ :.?_UK.-_J}.../}:JL/»..Q 12
No point at all Single point Two points Three points A tangent line intersects the circle at ---;
el sl At At el AR T ,'% ’
: ; . A proper An impr (x+D(x-1 ! (x+D(x-1
Anidentty | Anoquaion | Aieper | Anmprove
xv2=1 xv? = k x = kv’ x=v> Ifxocvz,then : :?xocvzﬁ i
. s » i ES
() {¢.{a}} {a} ¢ rgbrsralferds
Power set of an empty set is :
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(PART-1Js2)

12 2. Write short answers to any SIX (6) questions : : a‘apzﬁ? L ey (6){;8:( 2

(i) Define radical equation. Ey e ()

(ii) Solve by factorization : 3y =y -5y c ESEF 24 G

(iii) Write in standard form : - i 7t 1 = 3 :a‘uf‘ﬁd;yd’_-.up (iii)

(iv) Find the discriminant of : 4x? - 7x=2 ek} (iv)

(v) Evaluate: - B v =5 P Spead (v)

(vi) Write the quadratic equation having following roots : : ZleisleGndi, ) its (vid

-1,-7
(vii) Define direct variation. s i et (D)

EeedSk Jnz=7 Sawks L wel )l G
Z

(viii) If wacland w=S5S when z=7 find k

Z
(ix) Find a mean proportional between : 20,45 -y 3k (i)
12 3. Write short answers to any SIX (6) questions 4 A2 AL ey (6)"?:.(3)/ -
(i) Define improper fraction. s 8 b g (D)
ek JRUB A = SR W
. (x+a)(x-a) x+a x-a
X A B

(i) If 4 . find A and B

(x+a)(x—a)=x+a xX=a
(iii) If A=N and B=W gfind W - B e A-BIB=W mA=N J (i)
B XUY M XY IY={d,e} X ={a,bc} Si (v)
Gv) If X ={a,bYef ahd ¥Z{d e} ,find XY and X UY
e KM= L IM=(3,4} sL={a,bc}/i ()
(v) I L=Jfa,b,c} and M={3,4}, then find a binary relation of M x L

(vi)" Define subset and give an example. ' _Zf::dﬁufl»ié..y/""d,@r&? (vi)
(vii) Define range. _é_gf/"'gf.:/’ (vii)
(viii) Write two properties of arithmetic mean. _Q’:..L_or”‘mﬁmldu (viii)
(ix) Find harmonic mean of data : 12,5,8,4 :z-’r-}vmn.ﬂ;fﬁﬁw (ix)
12 4. Write short answers to any SIX (6) questions : : o Y 4 /p' L =iy (6){4:.43)’ 4
(i) Define an angle. _ Ew S G
(ii) Convert % radian into degree. -&-’J_:J; LS %rad (i)
(iii) Find @, when £=2.5m , r=4.5m. r=4.5m « £=2.5m 2207 (i)
sin® x.cot? x ’df(ﬂd‘ﬁagf..{fﬁfﬁ"fﬁ (iv)

(iv) Simplify each expression to a single trigonometric function sin® x.cot® x

(if d“u )

2




)
4. (v) Define projection. £ #/Z"'Z ~2% EEw) S JJ' (v) -4
s G

o S e & (i
(vi;i) Define perimeter. -éuéj/‘.’-J.bbl (viii)

(ix) The length of the side of a ?g.yr)HKJiué.f4Jl/Jé&£J}‘(wb{l (ix)

regular pentagon is 4 cm. What is its perimeter?
(PART 11 #5)
Note : Attempt THREE questions in all. ..q_d}ﬂ 9 /d{ru‘g -é..:-.y.e&.;,mrd' f 2y

But question No.9 is Compulsory.
2x* =9x? — 4 : é{,}c:(:-bb‘ (%) .5

(vi) Define collinear points.

(vii) Define cyclic quadrilateral.

4 5. (a) Solve the equation

2 2 ,
4 -ZgrP&EJ%-i--ﬂ—JUﬁqu;£4x2—5x+6=0 -:Jsl.»ﬁsa/ﬁ (=)
(o4

(b) If a,B are the roots of the equation 4x% — 5x + 6 = 0 then find the

2 2
o
value of — + ﬂ—
a

4 6. (a) Find x in the proportion : :“'ér:j“’.:wax =t () 6
=3 8 z=1 N
2 x-L oY %d

R S M
(xE3)(x"+1)

B={1,4,710} A 81, Ms. 7.9} U={1,2,3,4,—,10} S (0) 7

: A-B=ANB ZE=E7
7- (a) If U={ 1,2:334:""&10},A={ 153)55799}3 B:{1s43?’10}
then verify A-B=ANB'
:é{#’qﬁ:gﬂdi@ﬂ)ﬁ;v;&bgﬁgkzﬁurk_.)lbg;’ ()
(b) The marksf six students in Mathematics are as follows. Determine variance.

1 2 3 4 | 5 6

60 | 70 | 30 | 90 | 80 | 42

4 (b) Resolve into partial fractions :

Student ,J‘ vl
Marks ;7

-Zf_-f-r:l”u:’z J sech s cotd « tan® <« sind ¥ cosd>0 sl cosec(i':% A0 8
8. (a) If cosech = 1; and cos@ >0, find the values of siné, tan@, cotdand secd .

& luts PEESILLS st A 3N L ek a1 206 L1 (&)
(b) Circumscribe a circle with regard to a right angle triangle with sides

3Jcm,4cmand S cm.
-glnt L}"(?§<uﬁJﬂUJIds{/:_.f/ﬂ?»:d:é-fbfé-.‘:-:? .9
9. Prove that two chords of a circle which are equidistant from the centre, are congruent.
OR L
Prove that the opposite -gﬂz.ﬁé.}f)d;‘.ﬂ(féﬂf.&f&:'dixffgU’)fb;(é_//bd{.l/gg-"-at‘
angles of any quadrilateral inscribed in a circle are supplementary.
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